Kinetika sa zbirkom zadataka

244 a=5425m/s%, S; =653 N,

S;=89,4N

2.4.5 Fso /FS = (2'0052(2)_1

246 F=3485N

24.7 a=6,517m/s%, S;=3,745N,

S, = 16,463 N, a; = 7,0935 m/s?

a=23,772mis?, F,=5,662 N
(vlak), 1 = 0,5056 m

2.4.8

a=1,984m/s’, s=1945m,

F, = 8168 N,
F,=8018 N, F,=3629,7 N

2.4.9

2.4.10 Scp=24,55N, Sge = 62,05 N

~ g[Q—Fg +q(2x—|)]
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, 201[Q-F,]
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F,+a(l-x)
F,+Q+dl

2411 g

2412 a= g-TX-sina, v=4/0-l-sina

2.4.13 a) an = 1,095 m/s?,

ag = 0,981 m/s?,
b) aa = ag = 0,667 m/s?

2.4.14 a=0,3669

2.4.15 a, =7,9503 m/s?,
ag = 8,033 m/s?,

S=2495N

2.4.16 a,=0,7664 m/s?, S=137,95N
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2.4.17 wmin = 2,557 rad/s,
Wmax = 7,672 rad/s

2418 NAo=3383N, N =1617N
24.19 5, =139 kN, a=0,5/2g
2.4.20 F4=273,9kN, F,=4503kN
2.4.21 D, =3,25kN (40,5°),

D, = 2,20 kN (73,7°)

R, +h
%

2422 T =2n{1+i]

=
2.4.23 h=0,6076 m

2424 s=1941m

2425 a ~0,287 m/s*, t, ~12s,
v, =546 mfs, t, 137 s,
s, =373 m

2426 a, = 1,741 m/s?,
v, = 1,18 m/s,
a, = 3,481 m/s’, v, = 2,36 m/s

2427 u>0,7

2.4.28 Najmanje 33 ophoda/min”.

2429 s=643m

2.4.30 N =41,0 N, ne treba faktor trenja
Rad i snaga sile, energija Cestice

251 P =220,725 kW

252 W=8,72]

253 v=283m/s, Xmax =5,33 m



